

The Direct Theorem of Baskakov-Bézier-type Operators in Hölder Space *

Qiulan Qi^{1,2 †}, Wenxia Li¹

¹ School of Mathematical Sciences, Hebei Normal University, Shijiazhuang, 050024, P.R. China.

ORCID : 0000-0002-2743-8622 (Qiulan Qi)

² Hebei Key Laboratory of Computational Mathematics and Applications, Shijiazhuang, 050024, P.R. China

Abstract:

In this paper, the applications of Baskakov-Bézier and Baskakov-Kantorovich-Bézier operators in Hölder space were discussed. Using the equivalent relation between the modulus of continuity and the K-functional, the direct approximation of continuous functions in Hölder space by Baskakov-Bézier-type operators was obtained.

Keywords: Baskakov-Bézier operators, Baskakov-Kantorovich-Bézier operators, Hölder space, Modulus of continuity, K-functional

MSC: 41A30, 41A36.

1. INTRODUCTION

Recently, there are many results on the convergence speed of different approximation processes in the Hölder space^[1-6]. In Computer Aided Geometric Design, Bézier basis functions are very useful and their analytical properties have been studied by many authors^[7-11]. In this paper, we will study the approximation properties of Baskakov-Bézier-type operators in the Hölder space.

First we introduce two semi-norms: Let $0 < \delta \leq 1$,

$$\theta_\alpha(f, \delta) = \sup_{0 < |x-y| \leq \delta} \frac{|f(x) - f(y)|}{|x - y|^\alpha}, \quad \theta_\alpha(f) = \sup_{0 < \delta \leq 1} \theta_\alpha(f, \delta).$$

Due to the definition of the classical modulus of continuity $\omega_1(f, \delta) = \sup\{|f(x) - f(y)| : |x - y| \leq \delta\}$, when $0 < \delta \leq 1$, one has

$$\theta_\alpha(f, \delta) = \sup_{0 < t \leq \delta} \frac{\omega_1(f, t)}{t^\alpha}. \quad (1)$$

To describe the results, we need to introduce some symbols. Let $0 \leq \alpha \leq 1$,

$$C^{1,\alpha}[0, \infty) := \{f \in C^1[0, \infty) : \|f\|_{1,\alpha} : \\ = \sum_{k=0}^1 \|f^{(k)}\| + \|f'\|_\alpha < \infty\},$$

$$L_\infty^{1,\alpha}[0, \infty) := \{f \in L_\infty^1[0, \infty) : \|f\|_{1,\alpha} : \\ = \sum_{k=0}^1 \|f^{(k)}\| + \|f'\|_\alpha < \infty\},$$

$${}^1|g|_\alpha := \sup_{h>0} h^{-\alpha} \cdot \max_{x \in [0, \infty)} |g(x+h) - g(x)| \sim \theta_\alpha(f).$$

Due to the equivalence of $\omega_1(f, h)$ and K-functional, we will use the following semi-norm

$${}^2|g|_\alpha := \sup_{h>0} h^{-\alpha} \cdot K(g, h; C, C^1),$$

$$K(g, h) := K(g, h; C, C^1) := \inf_{G \in C^1[0, \infty)} \{\|g - G\| + h\|G'\|\},$$

obviously ${}^1|g|_\alpha \sim {}^2|g|_\alpha$. The Baskakov-Bézier-type operators are defined by

$$V_{n,\gamma}(f, x) = \sum_{k=0}^{\infty} f\left(\frac{k}{n}\right) [J_{n,k}^\gamma(x) - J_{n,k+1}^\gamma(x)],$$

$$V_{n,\gamma}^*(f, x) = \sum_{k=0}^{\infty} n \int_{k/n}^{(k+1)/n} f(u) du [J_{n,k}^\gamma(x) - J_{n,k+1}^\gamma(x)],$$

where $\gamma \geq 1$, $J_{n,k}^\gamma(x) = \sum_{i=k}^{\infty} v_{n,i}(x)$, $v_{n,i}(x) = \binom{n+i-1}{i} x^i (1+x)^{-n-i}$.

The main results of this paper are

Theorem 1.1 Let $0 \leq \beta \leq \alpha \leq 1, \gamma \geq 1$ for $f \in C^{1,\alpha}[0, \infty)$, one has

$$\|V_{n,\gamma} f - f\|_{1,\beta} \leq C \cdot (n-1)^{\frac{\beta-\alpha}{2}} \cdot \|f\|_{1,\alpha}.$$

Theorem 1.2 Let $0 \leq \beta \leq \alpha \leq 1, \gamma \geq 1$ for $f \in L_\infty^{1,\alpha}[0, \infty)$, one has

$$\|V_{n,\gamma}^* f - f\|_{1,\beta} \leq C \cdot (n-1)^{\frac{\beta-\alpha}{2}} \cdot \|f\|_{1,\alpha}.$$

Remark 1.3 Throughout this paper, C denotes a positive constant independent of n and x and not necessarily the same at each occurrence. We will only prove Theorem 1.1, we can use the same methods to get Theorem 1.2, the details will be omitted.

*This work is partially supported by NSF of China(11571089,11871191), NSF of Hebei Province(ZD2019053).

†Correspondence author. E-mail: qiqiulan@163.com

2. AUXILIARY RESULTS

First we list some basic properties which will be used in next sections.

Lemma 2.1^[11]

$$\begin{aligned} 1 &= J_{n,0}(x) > J_{n,1}(x) > \dots > J_{n,k}(x) > J_{n,k+1}(x) > \dots; \\ 0 &< J_{n,k}^\gamma(x) - J_{n,k+1}^\gamma(x) < \gamma v_{n,k}(x), \quad \gamma \geq 1; \\ J'_{n,0}(x) &= 0, \quad J'_{n,k}(x) = n v_{n+1,k-1}(x) > 0 \quad (k = 1, 2, \dots). \end{aligned}$$

Lemma 2.2 Let $t \geq 0$, one has

$$\omega_1(V_{n,\gamma}f, t) \leq C\omega_1(f, t), \quad \omega_1(V_{n,\gamma}^*f, t) \leq C\omega_1(f, t).$$

Proof. According to the relationship between the modulus of continuity and the K - functional^[12]

$$\begin{aligned} \omega_1(V_{n,\gamma}f, t) &\leq C \inf_{g \in C^{1,\alpha}} \{ \|V_{n,\gamma}f - g\| + t\|g\| \} \\ &\leq C \inf_{g \in C^{1,\alpha}} \{ \|V_{n,\gamma}f - V_{n,\gamma}g\| + t\|V_{n,\gamma}g\| \} \\ &\leq C \inf_{g \in C^{1,\alpha}} \{ \|f - g\| + t\|g\| \} \leq C\omega_1(f, t). \end{aligned}$$

Lemma 2.3^[11] If $f \in C[0, \infty)$, one has $\|f - V_{n,\gamma}f\| \leq C \cdot \omega_1(f, \frac{1}{\sqrt{n}})$.

If $f \in L_\infty[0, \infty)$, one has $\|f - V_{n,\gamma}^*f\| \leq C \cdot \omega_1(f, \frac{1}{\sqrt{n}})$.

Lemma 2.4 If $f \in C^{0,\alpha}[0, \infty)$, one has

$$\max_{x \in [0, \infty)} |\Delta_h V_{n,\gamma}(f, x)| \leq h^\alpha \cdot |f|_\alpha. \quad (2)$$

If $f \in L_\infty^{0,\alpha}[0, \infty)$, one has $\max_{x \in [0, \infty)} |\Delta_h V_{n,\gamma}^*(f, x)| \leq h^\alpha \cdot |f|_\alpha$.

Proof. Using the following relation

$$\max_{x \in [0, \infty)} |\Delta_h V_{n,\gamma}f(x)| = \omega_1(V_{n,\gamma}f, h) \leq C\omega_1(f, h) = Ch^\alpha \cdot |f|_\alpha,$$

one can get (2).

Lemma 2.5 If $f \in C^1[0, \infty)$, one has

$$\|(f - V_{n,\gamma}f)'\| \leq \|f' - V_{n+1,\gamma}f'\| + \gamma\omega_1(f', \frac{1}{n}) + \frac{\gamma(\gamma-1)}{n} \|f'\|. \quad (3)$$

If $f' \in L_\infty[0, \infty)$, one has

$$\|(f - V_{n,\gamma}^*f)'\| \leq \|f' - V_{n+1,\gamma}^*f'\| + \gamma\omega_1(f', \frac{1}{n}) + \frac{\gamma(\gamma-1)}{n} \|f'\|.$$

Proof. Applying the properties of $J_{n,k}(x)$ in Lemma 2.1, we have

$$\begin{aligned} V'_{n,\gamma}(f, x) &= \sum_{k=0}^{\infty} f\left(\frac{k}{n}\right) \gamma \left\{ J_{n,k}^{\gamma-1}(x) J'_{n,k}(x) - J_{n,k+1}^{\gamma-1}(x) J'_{n,k+1}(x) \right\} \\ &= f(0) \gamma J_{n,0}^{\gamma-1}(x) J'_{n,0}(x) + \sum_{k=0}^{\infty} \gamma \left[f\left(\frac{k+1}{n}\right) - f\left(\frac{k}{n}\right) \right] \cdot J_{n,k+1}^{\gamma-1}(x) J'_{n,k+1}(x) \\ &= \sum_{k=0}^{\infty} f'(\xi_k) \cdot \gamma \cdot J_{n,k+1}^{\gamma-1}(x) \cdot v_{n+1,k}(x), \quad \text{for } \xi_k \in \left(\frac{k}{n}, \frac{k+1}{n}\right). \end{aligned}$$

Noting that

$$\begin{aligned} V_{n+1,\gamma}(f', x) &= \sum_{k=0}^{\infty} f'\left(\frac{k}{n+1}\right) \cdot [J_{n+1,k}^\gamma(x) - J_{n+1,k+1}^\gamma(x)] \\ &= \sum_{k=0}^{\infty} f'\left(\frac{k}{n+1}\right) \cdot \gamma \cdot g_k^{\gamma-1}(x) \cdot v_{n+1,k}(x), \quad \text{for } g_k(x) \in (J_{n+1,k+1}(x), J_{n+1,k}(x)), \end{aligned}$$

we can write

$$\begin{aligned} V'_{n,\gamma}(f, x) &= V_{n+1,\gamma}(f', x) + \gamma \cdot \sum_{k=0}^{\infty} [f'(\xi_k) J_{n,k+1}^{\gamma-1}(x) - f'(\frac{k}{n+1}) g_k^{\gamma-1}(x)] v_{n+1,k}(x) \\ &= V_{n+1,\gamma}(f', x) + \gamma \sum_{k=0}^{\infty} [f'(\xi_k) J_{n,k+1}^{\gamma-1}(x) - f'(\frac{k}{n+1}) J_{n,k+1}^{\gamma-1}(x) \\ &\quad + f'(\frac{k}{n+1}) J_{n,k+1}^{\gamma-1}(x) - f'(\frac{k}{n+1}) g_k^{\gamma-1}(x)] v_{n+1,k}(x) \\ &= V_{n+1,\gamma}(f', x) + \gamma \sum_{k=0}^{\infty} [f'(\xi_k) - f'(\frac{k}{n+1})] J_{n,k+1}^{\gamma-1}(x) v_{n+1,k}(x) \\ &\quad + \gamma \sum_{k=0}^{\infty} f'(\frac{k}{n+1}) [J_{n,k+1}^{\gamma-1}(x) - g_k^{\gamma-1}(x)] v_{n+1,k}(x). \end{aligned}$$

Hence

$$\|(f - V_{n,\gamma}f)'\| \leq \|f' - V_{n+1,\gamma}f'\| + \gamma \omega_1(f', \frac{1}{n}) + \frac{\gamma(\gamma-1)}{n} \|f'\|.$$

Remark 2.6 By the Lemma 2.4, Lemma 2.3 and (1), one has

$$\|(f' - V'_{n,\gamma}f)\| \leq C \cdot (n-1)^{-\frac{\alpha}{2}} \theta_{\alpha}(f') + \frac{\gamma}{n^{\alpha}} \theta_{\alpha}(f') + \frac{\gamma(\gamma-1)}{n} \|f'\|. \quad (4)$$

$$\sum_{k=0}^1 \|(f^{(k)} - V_{n,\gamma}^{(k)}f)\| \leq C \cdot n^{-\frac{\alpha}{2}} \theta_{\alpha}(f) + C \cdot (n-1)^{-\frac{\alpha}{2}} \theta_{\alpha}(f') + \frac{\gamma}{n^{\alpha}} \theta_{\alpha}(f') + \frac{\gamma(\gamma-1)}{n} \|f'\|. \quad (5)$$

3 PROOF OF THE MAIN RESULTS

Proof of Theorem 1.1.

If $f' \in Lip_L \alpha \Rightarrow V'_{n,\gamma}f \in Lip_L \alpha$, we have $\theta_{\alpha}(V'_{n,\gamma}f) \leq \theta_{\alpha}(f')$. For $0 \leq h \leq \frac{1}{\sqrt{n}}$, using (5), we get

$$\begin{aligned} &\sup_{0 < h \leq \frac{1}{\sqrt{n}}} h^{-\beta} \cdot \max_{x \in [0, \infty)} |\Delta_h(f' - V'_{n,\gamma}(f, x))| \\ &\leq n^{\frac{\beta-\alpha}{2}} \sup_{0 < h \leq \frac{1}{\sqrt{n}}} h^{-\alpha} \max_{x \in [0, \infty)} \{|\Delta_h f'(x)| + |\Delta_h V'_{n,\gamma}(f, x)|\} \\ &\leq n^{\frac{\beta-\alpha}{2}} [\theta_{\alpha}(f') + \theta_{\alpha}(V'_{n,\gamma}(f, x))] \leq 2n^{\frac{\beta-\alpha}{2}} \theta_{\alpha}(f'). \end{aligned}$$

For $\frac{1}{\sqrt{n}} \leq h \leq 1$, applying (4), we have

$$\begin{aligned} &\sup_{\frac{1}{\sqrt{n}} \leq h \leq 1} h^{-\beta} \cdot \max_{x \in [0, \infty)} |\Delta_h(f' - V'_{n,\gamma}(f, x))| \leq n^{\frac{\beta}{2}} \|f'(x) - V'_{n,\gamma}(f, x)\| \\ &\leq n^{\frac{\beta}{2}} \cdot [C \cdot (n-1)^{-\frac{\alpha}{2}} \theta_{\alpha}(f') + \frac{\gamma}{n^{\alpha}} \theta_{\alpha}(f') + \frac{\gamma(\gamma-1)}{n} \|f'\|] \\ &\leq C \cdot n^{\frac{\beta-\alpha}{2}} \{[(\frac{n}{n-1})^{\frac{\alpha}{2}} + \frac{\gamma}{n^{\frac{\alpha}{2}}}] \theta_{\alpha}(f') + \frac{\gamma(\gamma-1)}{n^{1-\frac{\alpha}{2}}} \|f'\|\} \leq C \cdot n^{\frac{\beta-\alpha}{2}} \cdot (\theta_{\alpha}(f') + \|f'\|). \end{aligned}$$

This completes the proof of the theorem.

Acknowledgments

We express our gratitude to the referees for their helpful suggestions.

References

- [1] Bustamante J., Rate of convergence of Singular integrals in Hölder norms, *Math. Nachr.*, 217, 5-11 (2000).
- [2] Bustamante J., Jiménez M. A., Trends in Hölder approximation, in Proc. 5th. Int. Conf. on Approximation and Optimization in the Caribbean, Guadeloupe/France, 1999, edited by M. Lassonde, Physica-Verlag, Heidelberg, 81-95 (2001).
- [3] Bustamante J., Roldan C., Direct and inverse results in Hölder norms, *Journal of Approximation Theory*, 138, 112-123 (2006).
- [4] Cárdenas-Morales D., Jiménez-Pozo M. A., Muñoz-Delgado F., Some remarks on Hölder approximation by Bernstein polynomials, *Applied Mathematics Letter*, 19, 1118-1121 (2006).
- [5] Gonska H., Prestin J., Tachev G., Zhou D. X., Simultaneous approximation by Bernstein operators in Hölder norms, *Math. Nachr.*, 286(4), 349-359(2013).
- [6] Gonska H., Prestin J., Tachev G., A new estimate for Hölder approximation by Bernstein operators, *Applied Mathematics Letter*, 26, 43-45(2013).
- [7] Chang G. Z., Generalized Bernstein-Bézier polynomial, *J. Comput. Math.*, 1(4), 322-327 (1983).
- [8] Guo S., Qi Q., Yue S., Approximation for Baskakov-Kantorovich-Bézier operators in the space L_p , *Taiwanese Journal of Math*, 11(1), 161-177 (2007).
- [9] Gupta V., Rate of convergence on Baskakov-Beta-Bézier operators for bounded variation functions, *Int. J. Math. Math. Sci.*, 32(8), 471-479(2002).
- [10] Ispir N., Rate of convergence of generalized rational type Baskakov operators, *Mathematical and Computer Modelling*, 46(5), 625-631 (2007).
- [11] Guo S., Qi Q., Liu G., The central approximation theorems for Baskakov-Bézier operators, *Journal of Approximation Theory*, 147, 112-124 (2007).
- [12] Ditzian Z., Totik V., *Modulus of Smoothness*, Springer-Verlag, Berlin/New York, 1987.